Solution to  HW 9

Question 1

merge([], M, M).

merge(N, [], N).

merge([X|Xs], [Y|Ys], [X|List]) :- X < Y, !, merge(Xs, [Y|Ys], List).

merge([X|Xs], [Y|Ys], [Y|List]) :- merge([X|Xs], Ys, List).

Question 2

delete_x([], _, []).

delete_x([X|Rest], X, L1) :- !, delete_x(Rest, X, L1).

delete_x([Y|Rest], X, [Y|List]) :- delete_x(Rest, X, List).

Alternatively you could also write :

delete_x([], _, []).

delete_x([Y|Rest], X, L1) :- X = Y,  delete_x(Rest, X, L1).

delete_x([Y|Rest], X, [Y|List]) :- X \= Y, delete_x(Rest, X, List).

\= stands for “not-equal-to”

Question 3

delete_n([X|Xs], 0, Xs).

delete_n([H|Tail], N, [H|List]) :- 


N > 0, N1 is N-1, delete_n(Tail, N1, List).

